P —
3/2018 (5)
Number of lone pairs of electrons presont ‘
in XeF. molecule is
(A) 5 (B) 4
(C) 6 (0) 3 |
2. __has been accorded the honor

of the ‘Surya Kavi' of Haryanvi music genres |
Raagni and Saang.
(A) Surdas
(B) Kurmadas

(C) Lakshmi Chand
(D) None of the above

1 1 1
lue of =+ =+=—...10 10 terms.
3. Find the value o >*3*e to 10

5 -5 |

(A 3 ® -

(C) (D) None of these

2.5
60
was the last king of Tomara dynasty

who handed over the throne of Dethi 1o his
son-in-law Prithviraj Chauhan.

(A) Vijayapala (B) Mahipala
(C) Anangapala (D) Gopala

5. The_Arﬁcle of Indian Constitution which I
provides for equal cpportunities for all the

people in public employment
(A) 16 (8) 17 '
(C) 14 (D) 15

6. Who won the Runners-up title of FIFA I
Football World Cup 2018 7

(A) Russia
(B) France
(C) Croatia
(D) None of the above

7. 'Pilya’ will be sung during occasion of
(A) Birth (B) Marriage
(C) Death (D) Holi

——

I..l.llll
VRN ¥ g it oy

(B) ¢
) 3

2 WY eitamord) i
—— a % ufir al
*"i‘“ﬁ‘ﬂﬂm&mwh o

4. am an w1 iftm e w1 fawd
Reeh = fieres a3 T yefha em
) dig 2 |
(A) famama (B) W
(D) M

10 ¥
5. wdte fum = st 9 ardefaE 0w
# vt @l ) wEE sraw a7
(A) 16 (B) 17
(C) 14 (D) 15

6. rw Fare fava wy 2018 w1 fefig fadm
wAR?
(A) ¥4
~(B) ¥@
(C) wrfirm
(D) I7a & | #rf T

7. iferar % E T T W)
AA) TR
(C) 79
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It P(n) = 2™ ~ 1 Is diyi
all natural numborg n'tm? k, (k « N) for

(A) 5 ® o

?
#lcl {D] Nnnq ol thﬁlﬁ
9. 'Shelkh chilli ka maabare:
(A) Agroha q"";'a“; I8 situated in
[G] Hisar {D Slflﬂ
) Thaneswar
10. mwﬁdﬁmmmm
recording station is noy .oc’,’{gg'?mw
(A) :lolkﬂtlﬂ (B) Kodaikenal
(C) Pune (0) Mumbai
11, Following Is not a pan of hyman sperm
(A) Acrosome (B) Mitochondria
(C) Axialilament (D) Antrum
12. Haryana recently celeb
foundation day, | o oed its
(A) 42" (8) so"
(C) 537 (D) 55°
13. A number consists of three digits whose
sum is 17. The middle one oxceeds the
sum of the other two by 1. If the digits be
reversed, the number is diminished by 396,
then the number is
(A) 494 (B) 593
(C) 681 (D) 692
14, is the smallest and the fastest
memory in computer.
(A) RAM (B) ROM
(C) Cache (D) Hard drive
. ler 10
{5. i the first Indian wrestier
win two medals at the World Wrestling
Championships.
-$ -1 (A) Vinay Phogat
¢ (B) Sakshi Mallik
(C) Bajrang Punia
- mar
‘- (D) Sushil Ku |
i€ 16. Find the missing terms
L
2 b_b_bb_b_bbabb._ (8) abasd
Y1
.
- {= _‘L "".i
‘ =2l Ust =

N)
" uﬂp{n)--z *' K, {Em:ﬁﬂt'akl
B) 9
(A) 5 ¢ (D) Fﬁﬂﬁhﬂ
©) 7 __________ﬂfamtl
'ﬂﬂﬁﬁ‘ﬁﬂ Ry
" - “D)
(©) .
fo. Frefed ﬁﬂtﬂ;“mmmm
' Tl
aE e
c) T
1" Jmmﬁﬂm-mmmﬂm
:T,” (B) FTERYHIEAT
(c) ¥l g (D) WA
12. mwninatﬁﬁm____m:mm
forq wATa@| e
A4 a2 al (B) sodal i
©) s3al (D) 55 4l %
13. o v A ot @ wh R e am 17 8 'f-_g
e aren wrh) 241 & A | 1 T 81 Ak "
T
, & wEm
(A) 494 B8) s93 3¢ 2
410} ‘o o) 892, aw
(A) 5 mf?}«
(B) ROM
£ ©) TEymE oS
15. famm %m‘ﬂ ° 2 q? e m
(A) ﬁ'-ﬂtﬁmz el r)_\l.
A0) o i
D
MRS
bbb b_bbabh
(A) apabb =
(C) ababb (8) abaaa
e
- ﬁk'ﬁ‘h{‘
fhﬁl‘-‘-'—b"" pETS L
sV
- alpa P bt
\q_-,.:v,hhh
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17. Orderof the differential equation representing
the family ol parabolas y* = 4ax s
(A) 2 (8) Not delined
(C) 3 0) 1

18. Index number of the last element of an array
with 9 elements is
(A) 9 (8) 10
C) 8 (O) O

19. India’s first Bullet train will run between
(A) Gandhinagar 1o Mumbal

(8) Ahmedabad to Mumbai

(C) Delhi to Mumbai

(D) Surat to Mumbai

brother of his father's wife". How is Rohit
related to Anil 7
(A) Cousin
(C) Uncle

(B) Son
(D) Brother

Which of the following decides the eastem
boundary of Haryana by separating il from
Uttar Pradesh ?

(A) Ganga
(B) Yamuna
(C) Ghaggar Hakra

(D) Chandigarh

This district of Haryana is having least
amount of forest in terms ol area

(A) Rewari (B) Fatehabad
(C) Gurugram (D) Jind

21,

Overloaded functions are

(.;} Iénng ;m::tiona which cannot run

( ne function containin

function in it § &nother

(C) Two n:y;n:ra functi
name, and argumen

(D) Twoormore funct: '

umumsamnam
but diff
o erent number of parameters or

Anil introduce Rohit as the “son of the only |

ons with same |

4.

—

17. AT y¥ = 4ax kqﬁmﬂmﬁmﬁhm
v &1 e

AA) 2
(C) 3

18.’ gmmmtuﬂﬂmﬁw
T ?
(A) 9 (8) 10
(C) 8 (D) O

vt geRE ¥ ®
LieR-1r uil

AA) MM ﬁ

(B) aremzTaTZ :

(C) foeeht & mut

(0) @&

@ Mt =1 wiag sak R fgeh &
vt wif & g1 % w9 # T ) A =
sfmawEaul ?
&) W T

(C) wmm

19.

(B) T
(D) w§

21. Pl 1 & -1 eiamon | 9o |
a7em e ge v il i Pruffa sk 7
(A) T
AB) TgA
(C) U"R EFT
(D) =BT

el A 3R A wiwrn F1 AR w1 awn #
sreraen faen @
(A) tard

(C) T&Im™

sftnnfa A 2

(A) TR FATA RN T TE A ETFA

(B) & FaA fret Ze waw g @

(C) ®WH M, ¥R 3N T & Ta AW
it waTA

D) T T A i w71y

T & /Y A 11 3w FEA

(D) iz

Scanned by CamScanner

Scanne d with CamScanner



[|lllllll

24.

&

. The lorces ncting on

Arrange the lollowhg wi
1. National lnutltutg o;h their base :
Solar Energy a. Gmugmm

2. Raja Ramanna Cony,

for advance ‘ﬂﬂhnolom' , . Indorg
3. National Dairy

Rosearch Institytg ~ ** Kamal
4. National Bureay of d

Plant Genetic - Now Dol
Resources

Select the correct opti '

(A) 1-a 2-ch ?EENT vk

B) 1-a 2-p 3_, 4—d

(C) 1-a 2-g -

3 -
(D) None of the above b a-¢ |
A capacitor lilled |
of permitivity ¢ = 2“'1“1 a dielectric

¢ = «.1 10ses half th
charge acquired durin a 0
= 3minutes., - 9 a time interval

thechargat
through the dielectric material, thu?e?:tm |
s (Charge decay takes place a

A ccording 1
q=q.e ‘"¢ and half time T, =0.603 Ilfi gl 0

(A) 1.39x10"Om (B) 25x 10" am |
(C) 1.39x 10 Qm (D) 25x 10" Om

was a major rebellion against
Aurangzeb, the Mughal Emperor, occurred
in Narnaul and surrounding localities in the
year 1672, which was led by Sadh people.
(A) Sikh revolt (B) Sepoy mutiny

(C) Satnami revolt (D) None of the above

________isthe world's oldest still-functional
1855 - built steam locomotive.

(A) Kalka Shimla train

(B) Fairy Queen |
(C) Palace of wheels |
(D) None of these

The Jejaka bhukti was the m:;um of |
(A) Allahabad (B)
(C) Bundelkhand

placed on a hor
(A) Forco due 105U
() Force due 109"
4€) Both (A)and (&)
(D) Force due 10

viscous 5.

3/2018 (5)
04, Prmferfir ®) T4 IR & JFER Al
HRng : _
i, T T WA e TEIH
2. T THOOTT WA b. WK
LeZiok D S
3. TR A JFRVH —o. T
w1
4 m%sﬁuﬁrﬁ d. 7% fReeh
wHA
A R m wft frwew giAg
A) i-a 2-cC -

27.

28,

29,

3-b 4-d
B; i-a 2-b 3-c 4-d“
C) 1-a 3-b 4-cC
(D) I H } wr§ 7

frgadfiera ¢, = 2.1 & UF Tgfa® A T

wrfa wo @ sl T st « = 3fiER

2 ufea smn 3 @ @) 2 ¥ 78 T
fir amam #Fae angfes vad A Fa

ﬁuﬁ@mh

(3w A q = q o™ & Fan gt @ i

afwwa T, =0.693RC)

(A) 1.39x 10" Om (B) 2.5x 10" Om
(C) 1.39x 10" Om (D) 2.5 x 107" Om

__af1e72u Fiha v srm-gra & A9

% wre sz s & feg e A
w1, e Ygea wrg @i zro fw man R
An) fowa faze 8) foamdt e
(C) wemmh (D) IWAY DT
____ fara @ sl anfy oft w1
o g o R IR
:g} wrerE fmren 29
) ¥l Wi
(C) ¥Am i whieq
(0) v A wré T
mljﬁh w1 T |
#(A) FETETATZ (B)
iC) !'Q'Hm D) HHAY

& yues @ wh
R et & AR G

(A) 7T wara & = T
(B) THA % wTT WA
(C) (A) 3k (B) 2t
(D) WM % wwv o

/
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3/2018 (5) l T T
30. Three married couples are to be seated In | 30, o4 efka el w) uw fuimr wfer i
& row having six seats in a Clnema Ha 0 ¥NeY e v vifih if haray By 43 i oo
Find the number of ways of thelr sealin "I WY vl w1 it aft e e it ) e aim
all the ladies sit together. dom 8 |
(A) 36 (8) 7e ~(A) 30 (D) ?2. o
(C) 144 (D) None ol these (C) 144 (0) wrif 11 wrd A
v 2 ' 3l I :'
. ngi ad sveciosundor | 310w el waifa i spra gavis W afata M1
i mmmmmﬂii 1o as ) wlaa _ R awerd) B
(A) Acclimatisation (A) e 1
(B) Introduction ' /B) v '
(C) Domestication (C) ¢ w4
(D) None of these | (D) ¥l Q@ wd Aéf
. # arArn
32. TMNgn\'ny*mmrmhmrdwnsmllmlﬂ J2. vmnﬁuglmmliﬂnﬂ,_ d;l"
the year (A) 1973 AB) 195
(A) 1973 (B) 1953 © 1963 ) 1947
(C) 1963 (D) 1947
2 v s gz 0 LD
33. CPU of smallest single user computer is 33. @@ uFa e
(A) Micro-processor (A) TR _
(B8) Mini-processor (B) ﬁl‘ﬂ#lﬁmm
(C) Nano-processor _AC) -grawt
(D) Persconal processor | (D) farslt gram

e - ‘a'a,
Recently P.M. Narendra Modi inaugurated | 34, wra A 1 5tz A 3 arEm H v F /e
% lm'l%tbwﬁﬂlﬁﬂﬂﬂm.llmﬂ\wl rmzﬁwlmm
o T R R T |

(A) Mohammad Rafi _A) ez T
(B) Manna Dey (B) ¥=N3

(C) Kishore Kumar (C) ﬁqﬁtw
(D) Bhupen Hazarika (D) VX7 Tt

35. Choose the pair of words that shows | 35 =i 1 @ g1 e <t ) waiy Zofan 2

the same relationship as given pair ; .
Srely: Ha given p = ;9.
(A) Home : Cattle (A) WT:9q
(B) Nai : Nailpolish (B) A : Aarwifera
(C) Grass : Earth _AC) wmE : urd
(0) Fur:Cap (D) ‘Ft:i_l'_d’l
1 1
3. A= then A’ 4+ — = _ 1 1
\rs—_Jg AI‘ @ uﬁA- G-Jgiﬁﬁi""i‘;:
(A) 430 (8) 22 (A) 4J30 (8) 22
€ n (D) None of these ©) 11 .. .
L (D) 9 | w1 T
-6-
L - )L-l \___ 1, |
d re . r..-\l'" LG -
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39.

m-n\!hyhhw
Y0 Sumerian race

The People of
Indus valiey were

(8) R.D.Banerjee -

(C) Dr.Guha

(D) John Marshal - The Indus people
belonged 1o
Mangolian race

One of the new age transport systems
called Pod Taxi s proposed in India, it's a

(A) Cab pooling system by using drones

(8) It's a Personal Rapid Transit
system (PRT)

(C) Driverless maglev train

(D)

Helicopter service for essental senices
Complete the analogub. o\ peE : 7

TUESDAY : UUFSCAX £D
() TQVASED (8 TOU

VARED
(C) TQVAQED Te

a1.

(A) 5

o) -1
(C) 0

wéaTs % wfia AR AR 18610
¥ TR 9T |

(A) e Az fire

(B) wenrn wiAzy fire

(C) werran Gofta fére

(0) J7a# | #rd T

39. Frarwi i fiy wrdt e ¥ g v frem
ﬁsfttgﬁisﬁqfé%anﬂm-mm
fera gt & ?
(A) Méasmes -~ faywidt & am
wfaa wenfa
# 4
(B) ¥M.A, w7l - féywrd % em
zfag @
- fayam ffim
PENT R RY

(C) =1.7m

40. “E“ﬁmﬁmﬁﬂm'm

&%) ) s 3 srenfae fvn e 8, 27y o

—_—
(A) ¥4 %1 w7 v A worredt &
(C) wrerwfin fdra termd

(D) meiﬁ%ﬂmt}m

41.

(C) TQVAQED (D) TQvARep

42. costvc ? . 5
11}52 Cos 3°....c05 179 W HTY

(A) -
) B ®) 1

(...b“
v
-

. A
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43. Amrita Pritam was honoured by Bharatiya

Jnanpith award for her literary work
(A) Rasidi Ticket

(B) Pinjar

(C) Sunehade

(D) Kagaz Te Kanvas

Which one of the following is not a feature
of Marxist perspective on state 7
(A) State is an instrument of exploitation
(B) State is temporary

(C) Classes never abolished

(D) State is Universa!

45. Rana Nimantrana, Guru Gobind Singh and
Yuddha Charita are the works of famous
Haryanvi poet

(A) Uday Bhanu Hans

(B) Khushiram Sharma |

(C) Ayodhya Prasad Goyaliya

(D) Tulsiram Sharma Dinesh

Select the word which is least like other
words in the group.

(A) Lake
(C) Wind

(B) River
(D) Current

47. Converse of the statement ‘|f x : y=3:2
then2x = 3y’ is

(A) Ifx:y=3:2then 2x = 3y
(B) H’2x=3ythenx:y=3:2
(C) rrzuaymenx:y.:a;z
(D) None of these

48. Which Section deals with dowry death 2
(A) 498-A of IPC
(B) 489-Aof IPC
(C) 304-Bof IPC
(D) 304-Aof IPC

49,

A

(D) #Frma & &=aTw 3
ﬁqﬁm TH-R T T T .-ii-‘
“ qﬁmﬁﬁmﬂ“
(A) T TivToT 1 O ITE 8 '
(B) Ty areurdl R
(C) = mafy 7él v
(D) T ¢
4s.  Ton fsam, 1 mifire fire i 3% o Tt
iz efaora #fa AR
(A) 327 Wy ¥
(8) et v
(C) yaray warz Mraferm
(D) gty wmi faam
46, aﬁgﬂ;ﬂﬁﬁq:ﬂmﬁmnﬁﬁm
! |
(A) ¥ra (B) T
(C) ®& (O) 4m
47. FEFIA: TR x:y=3:2M
2:::{;;3 :
(A) X1y#3:2%12x =3y ey
_AB) ﬂﬁﬂ-@@x:yls:ﬁ %fﬂi
(C) TR 2x=»3ydix:y=3:2
' (D) i W o
)
48. X ¥R B FA-H uTq wafig § 7 q
(A) IPC#l 498-A }pﬁl
(B) IPC %1 489-A S
(C) IPC %i304-B .
(D) IPC i 304-A %*"1, ~
49, mamﬁﬁ%ﬁﬁmm%muﬁ'
¥ AT (@i F:w R
(A) THE FIT (B) TEHW FE
(C) FHIT (D) WM HIE




In CPU D) 72
instruction 1o be ﬂﬁ&}ﬁm‘ 10 the next

(A) Instruction register
(B) Program counter

(C) Memory butfer register
(D) Accumulator

Who is the current director of Haryana
Punjabi Sahitya Academy ?

(A) Gurvinder Singh
(B) Rakesh Sinha
(C) Narinder Singh Virk
(D) Ashwani Kumar

inite rule is
In the series of letter a defin
followed. Determine the next two letters.

NKTUEILSVCHMHWDGNGKEFO??

PY

(A) YZ (B)
{C; ZA (D) PZ .
The probability of getting &n even P’ 57.
when a die is_rolledji 1

2 ® 3
(A) 5 ;
(C) % ©

UTER T 1 ST 21 A w
”ﬁi@w&ﬁ@w
(A) YZ ) PY

3/2018 (5)
v whe a «h 3 11

" A wih B) arh
() el (D) 1 wh
f dvdm @ e A i L
av R
[‘]‘ 'I'{'?{’]hm ‘Bj '{’Ih?r
© fefrn,  (©) w

10 - 10 @ # v, ud) 3, Sz £y oy £y B
TR PR A S A

(A) 120" e 125

() 115" D) 2%

. f{". Eﬂ_ ‘H;r; ﬂ T;": ﬁ.f-ﬂ.‘!? Wﬂ ;:: .i-:

$rfav ) s sprgen w) wqimn XA () 7
. Y : »~
rqTA T T

12 13 30 99 412 ﬁ\
18 ) fity  (m)  (re)
(A) 135 (B) 115 \_/

(C) 180 (D) 72

, Wrma, A B e e

a2 F17FA %23 vA v B
(h) %o -
(B) W WrIz '

(C) ZA. (D) PZ P ¥
gm AT TR TR o o
(A) E (B) -;-
(C) -;- (D) .;_

L
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61.

62. Belore Independence, The high court of

Recently, Chief Minister of Haryana has
approved signing of agreement for

would add new storage capacities on two
tributaries of river Yamuna.

(A) Indira Gandhi dam
(8) Bakhra dam

(C) Kishau and Renuka dam
(D) Anangpur dam

The states which have highest Density of
Population according to 2011 census aré
(A) Kerala and Uttar Pradesh

(B) Bihar and West Bengal

(C) Bihar and Delhi

(D) Bihar and Uttar Pradesh

Select the significance of meiosis.

(A) It helps in growth of multicellular
organisms

(B) It helps in cell repair

(C) It maintains the same number of

chromosomes in daughter cells as of

parent cell

(D) Itcreates variation

) is a structure built in Chandigarh
by legendary architect, Le Corbusier.

(A) Close hand monument
(B) Open hand monument
(C) Right hand monument
(D) Left hand monument

Haryana and Punjab was situated at
(A) Amritsar (B) Rawalpindi
(C) Peshawar (D) Lahore

Who was the first speaker of the Lok Sabha ?
(A) Neelam Sanjiva Reddy - .

(B) M. A. Ayyangar
(C) Ganesh Vasudev Mavalankar
(D) Sardar Hukam Singh

Geographically Haryana contains
legislative assembly conslituencies.
(A) 14 (B) 10
(C) 70 (D) 90

ss. e ¥ i, ghrarn % geah 3

60.

61.

—_—
N ) 7 qEEE #
ATgmI
(A) "f;mrﬂlj;lﬂﬂ
(8) vyl T
(C) fs it tops
Y

TR T )

(A) e f 39 T
8) fawm af ofrem T
(c) farem o feweh

(0) fargrt 3T FAT=N

vtz arganr, o FEEE TN
Tz 7 a=rft T & qean R

(A) W2 TR &

(B) T &

(C) T (&%

(D) #far v =&

62. waam qd, i i deme 3= =

T fRm )
(A) AW (B) Tawfdz
(C) TwImar (D) =R
63. TIHEWI &1 9YN TREIFT 97 7
(A) Hrem w<ita
(B) TH.U. AN

_4C) T ATRA WraEaR

64, vmfer® wv | efwmon 3§

(D) QR ¥FH fae

& &
(A) 14

(B) 10
(C) 70

(D) 90
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70.

71.

72

73.

Which of the ‘
. Ollowin
10 the Sapta Slndhl.?' dn?a: o :
malrntigned in Rigveda cven tivers
avi
(C) Markanda {B; ?hh:lun:nh
Erfﬁimg Centre stuatedin Momi, Panchiuta
IS rc-_l IS a Purpose-buyil centre for 1h
bruodmg ol e

(A) Blue Peafowls (B) Chinkara
(C) Pheasants (D) Indian vulture
The Federal System with strong Central

Government has been borrowed from
(A) France

(B) England
(C) Canada (D) USA
Hybrid computers are used to

(A) Convert the analog signals to digital
(B) Control air tralfic and radar

(C) Work on binary digits
(D) None of the above

India won ICC under 19 World Cup 2018,
the linal match took between India and

(A) England (B) South Alrica
(C) New Zealand (D) Australia
What is related to ‘Taka' in the same way
as ‘Lira’ is related to 'Italy’ 7

(A) Jordan

(C) Bangladesh

-11-

69.

70.

71,

72.

frerfarfaa i § 23 -m s 8 sfeafua aa
fay = wra 3z 8 3 s ? ik
(A) T () =m 17,
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7‘- "I:S‘iy'gi.IZ-
then abe =

(A) 1 (8) 27
o
(C) P (D) 0

Initiation of milk secretion is called
(A) Lactogenesis

(B) Galactogenesis

(C) Galactopiosis

(D) None of these

According to Vayu Purana, which of the

following place is believed as the birth place
of Lord Hanuman ?

(A) Karnal (B) Hisar
(C) Kurukshetra (D) Kaithal

77. Consider the following about Rousseau's
General will and choose the correct
statements,

I. General will is the expression of inner
will,
ii, General will is infalliable.
iii. Itis the best will of the individual.
iv. General will Is impersonal.
(A) i, iii and iv (B) iandii only
(C) ilandiv (D) all the above

_ deals with the synthesis of
pyrrole derivatives by the reaction of

{-keto-esters with a- chloroketones in the
presence of ammonia or primary amine.
(A) Paal-Knorr synthesis

(B) Knorr pyrrole synthesis

(C) Hantzschpyrrole synthesis

(D) Madelung synthesis

79. u{’::—gzom

27° and x> y= 2% = 1

75.

76.

78.

(A) x22

(B) x>2

(C) -2<x52

(D) x220rx<=-2

The criteria of essentialit of n
elements were given by g virlent

(A) Nicholas

(B) Amon

(C) Parker

(D) Amon and Stout

74.

75.

78.

79,

Downloaded from www.cclchapter.com

uﬁx:ﬁ',y:ﬂ'.xﬂ_ﬂa"ﬂtﬁw
l'hnbcn —

(A) 11 (8) 27
(C) >7 L) 0
T |TAY] H] JAW

iii: Te U& =fa &) gaay =01 R |
iv.. AR Y=o aafwE R | .
(A) i, i 3Ty (B) *ad il
(C) i AMTiv (0) 3% vl

_ R -Ez R s
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English Language
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89. (A) Who do you think she is 7
(B) Each of the scholars has 0on@ e
(C) Neither of them was invited 10

()

| am as tall as she is

| swim befter than him
AC) He gave me an advice
ND) Between you and me &

Select the correct option for the underlined word in |
the following sentences :

A
(B)

Hairs look dark

o1.

(C) demonstrative pronoun q
(D) reciprocal pronoun

None of his friends have came forward 10
help him.

(A) Indefinite pronoun

(B) Interrogative pronoun*

(C) Distributive pronoun

(D) Demonstrative pronoun

Select compound sentence from the following :

(A) |told him that he would be promoted
(8) When the siren sounded, all traffic

came 10 a stop

(C) He is a scientist and a philosopher too
(D) Smoking is bad for health

(A) You can go by bus or by train
(B) |shall do as | like
(C) When we wenl there we found that he

had gone
(D) The annual sports wil be held tomorrow
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